AN

> I_I n N 5 n 0386910586 HANSARONDA - Fertigset fiir Brause-Batterie

EAN: 4015474683266
static.hansa.com/0386910586

2.1
2 Ersatzteile
SP03869102
Name Art.-Nr.
1 Hebel, L=138 mm Chrom 59913770
1 Hebel, L=99 mm, (-2011) Chrom 59913768
11 Schraube, M5x8, SW2.5 59904755
12 Kunststoffadapter 59904778
13 Blindstopfen, hot/cold 59906705
2 Rosette Chrom 59911553
%ﬁ% ‘ 2 Rosette Weiss 59911555
2.3 § 2 Rosette Edelmessing 59911557
i 21 Abdeckkappe Edelmessing 59906537
g1 21 Abdeckkappe Chrom 59904820
LE—-I‘LSJ 23 Schraube, M5x65 Weiss 59906672
1 23 Schraube, M5x65 Chrom 59904847
23 Schraube, M5x65 Gold 59904849
N.I. Verlangerungssatz, 20 mm 59904983

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024


https://static.hansa.com/0386910586

